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Level 3
Exemplar 1 Paper 2

Section A (44 marks)

1. () Mary was the major shareholder of a private limited company which operated a restaurant chain. She
planned to change the form of business ownership to a listed company. List ONE advantage and ONE
disadvantage of the change. (2 marks)

(b)  After opening some new restaurants, Mary found that the average cost of production of her company
had increased. Explain the change in average cost with ONE reason. (2 marks)

2. There are two kinds of food deliverers: ‘riders’ delivering food by self-provided motorbikes and ‘walkers’
delivering food on foot. Why do ‘riders’ usually have a higher income per order than ‘walkers’? Suggest
ONE demand-side factor and ONE supply-side factor to explain your answer. (4 marks)

Answers written in the margins will not be marked.

2022-DSE-ECON 2-2 2

Answers written in the margins will not be marked.



Answers written in the margins will not be marked.

3. Refer to the following data about Country A.

Year 2019 2020
Per capita disposable income $15000 $20000
Gini coefficient (based on household income) 0.51 0.56
Gini coefficient (based on household disposable income) 0.51 0.44

(a) State TWO reasons to explain why the increase in per capita disposable income may lead to an over-
estimation of the improvement in living standard of Country A. (2 marks)

(b)  Based on household disposable income, did income inequality of Country A improve or worsen in
2020? Suggest ONE policy which may have caused such a change. (2 marks)
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4, Country B and Country C are two large open economies. Facing a huge visible trade deficit, Country B
imposes a per-unit tariff on goods imported from Country C. Suppose Country B’s M for goods
imported from Country C is elastic.

\.

(a) With the aid of Figure 1, explain how the tariff would affect the total expenditure of Country B on
goods imported from Country C. (6 marks)

(b)  “Devaluation of a country’s currency against its trading partners’ may have the same effect on imports
as tariff.” Use Country B as an example to justify this statement. (2 marks)

(c)  Apart from the effect on the country’s visible trade balance, explain ONE other effect of devaluation
on its balance of payments. (2 marks)

Figure 1: Goods imported from Country C by Country B

Price (in terms of Country B’s currency)
A 51

D

> Quantity of goods imported from Country C
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S. Country D introduced a short-term capital gains tax (STCGT) on property market.

Capital gains ($) STCGT rate (%)
10 000 or below 8
10001 to 50 000 16
50001 to 100 000 24
100001 or above 32

STCGT is a tax on capital gains from the sale of a property held for less than 1 year.

A spokesman of the tax department said that a new_computer system had been developed for STCGT.
Although the system cost more than 1 billion dollars, it allowed tax payers to check and pay the amount
of STCGT online easily. e

(a) Evaluate the new tax in terms of TWO principles of taxation put forward by Adam Smith. (4 marks)

(b) “The introduction of STCGT would not relieve the problem of rising property prices.” Explain whether
this is a positive statement or a normative statement. (2 marks)
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6. (a) ‘Deflation will occur if the amount of goods and services produced is growing faster than money
supply.’ Explain this statement in terms of the quantity theory of money. (4 marks)

(b) ‘If deflation is expected, the real interest rate will be higher than the nominal interest rate.” Why?
(2 marks)

p(yrwfv'fo\aQ ]
) fobesnad . Wl e 1e:m9»//>»ﬁm¥mfefnxﬂa/mw
________________________ Lot Aa wbldion oo 0. o repglig hoder
________________________ ok nonnal  Ddfeceet  rele  ganee ab expectid.

Answers written in the margins will not be marked.

2022-DSE-ECON 2-7 7 {Go on to the next page>

arked.

wers written in the margins will not be m

Ans



marked.

Answers written in the margins will not be

7. In a two-country-two-good model, the outputs per unit of resources of both countries are as follows.
Rice (units) Toys (units)
;)
Country E 10 2 Tor 20 SR
Country F s . STor 15 L2 bh
< \\/
(a) Assume the terms of trade are that 1 unit of rice can be exchanged for 2.2 units of toys. Calculate the
gains from trade of EACH country when trading 1 unit of rice. Show your workings. (4 marks)
(b) With reference to your answer in part (a), defend the following statement. ‘There is still a basis for
trade even if a country has no absolute advantage in producing any goods.’ (2 marks)
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8. The following table shows the balance sheet of a banking system.

Assets ($ million) Liabilities ($ million)
Reserves 1000 | Deposits 4000
Loans 3000

The public initially holds $1 000 million cash and the banks are fully loaned up.
(a) Calculate the required reserve ratio. (1 mark)

() Suppose the public only wants to hold $400 million cash and deposits the remaining cash into the

banks. Calculate the maximum change in money supply. Show your workings. (3 marks)
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END OF SECTION A
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Section B (60 marks)

9, The Mainland government introduced the Targeted Poverty Alleviation Campaign (fF 3£ 3 & Bt 5% ) in 2014.
After analysing the situations of people living in poverty, the government officials came up with tailor-made
measures. The following are two examples of the campaign.

Example I | A village in Yunnan province has beautiful natural landscape. The government of Yunnan
province promoted the village to attract more travellers. Apart from farming, the villagers
also set up hostels to serve travellers in order to earn more income.

—

(a) Refer to Example 1.

@) In which types of production did the villagers engage after the introduction of the campaign?
Explain. (4 marks)
(ii) Explain how labour mobility of the villagers would be affected. (3 marks)

Example 2 | The government provided funding and invited private firms to develop hydroelectric power
plants in_six provinces (such as Hubei and Jiangxi). Such development would help improve
transportation, irrigation and flood prevention in the rural villages in these provinces.

(b)  Refer to Example 2. With the aid of a diagram, explain how aggregate output in these six provinces
would be affected in the long run. (8 marks)
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10.  The Olympic Games attract billions of international television viewers to watch the competitions among
thousands of top athletes.

(a) Some restaurants in shopping malls find their businesses increase sharply when the malls broadcast
Olympic events. Explain how the broadcast of Olympic events may result in a divergence between
private and social benefits. (3 marks)

(b) Suppose the divergence in part (a) does exist. How can market mechanism help reduce this
divergence? (2 marks)

Athletes compete in the Olympic Games with their support teams consisting of sport psychologists, physical
therapists, nutritionists, etc.

(c) Which economic principle is illustrated in the above practice? State TWO reasons why such a practice
can increase labour productivity. (3 marks)

Some professional athletes receive a monthly salary and share a proportion of the prize money whenever they
win in competitions.

(d) Instead of paying the athletes a monthly rate only, explain why some employers of professional athletes
use the above wage payment arrangement. (2 marks)

Whenever an athlete wins a gold medal in a certain sport, there will be the following phenomena: more people
will start learning the sport. As a result, there will soon be long queues registering for courses in the sport.

(e) With the aid of a demand-supply diagram, explain the above phenomena. (5 marks)

Professional athletes usually start their full-time training before graduating from secondary school and have
to give up their studies.

® Will the opportunity cost of being a professional athlete be affected if the average income of
professional athletes increases? Explain. (2 marks)
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11.  The Government launched the Consumption Voucher Scheme in 2021 to relieve the impact of COVID-19 on
the Hong Kong economy.

Source A: Statistical data about unemployment rate in Hong Kong

Unemployment rate by previous industry

%

12 == @== Retail, accommodation and
- . .
» = food services industry
10 7
vd «« 4@+ Pyblic administration, social
8 7 and personal services
& industry*

- *‘_’——-‘
6 s A 11 industries

-
4 *Public administration, social

W““ RT TYTTTRTRRC and personal services include

education, human health and

2 T : ' social work activities, etc.
@ecscococagpy®’
0
7 7/ QQ) 77 .
. \Of‘ 7 o 0& 0
é’»o, OO,), l’«‘v, GOO 6’\»0,
s % % 2
9%) % %, % %y,
(A %, & %, LA

Source B: An extract of information about the Consumption Voucher Scheme

All Hong Kong permanent residents and new arrivals aged 18 or above, who comply with the ‘residing
in Hong Kong’ requirement, could register to receive electronic consumption vouchers with a total value
of $5 000 by instalments.

Source C: Information about the four designated stored value facilities to receive the $5000 consumption
vouchers by instalments

AlipayHK Octopus Tap & Go WeChat Pay HK
- Oc’t-t\DilE
AlipayHk P WeChat Paye
Public MTR, bus, mini | MTR, bus, mini Bus and mini bus None
transportation bus and ferry bus and ferry
with the above
payment facilities
installed
Promotions to 5 e-coupons First 2 million $50 awarded when €-coupons
consumption registered using virtual Tap &
voucher users customers enjoy Go Unionpay card for
$18 of stored the first transaction
value with an amount equal
to or larger than $50
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Source D: Some reminders for the Consumption Voucher Scheme

- Consumption vouchers cannot be used in transactions such as payments to the government (e.g. tax),
public utilities (e.g. electricity charges), purchase of financial products (e.g. insurance), and direct
purchase from merchants located outside Hong Kong.

- There are deadlines for using consumption vouchers.
s e s 1 Vol

Source E: Some views on the Consumption Voucher Scheme in Hong Kong

A housewife T have spent more than $5 000 as there are e-coupons from the stored value facility
provider. A lot of promotions in large retail chains and malls have also tempted
me to consume!

A former chefin a I have been Jaid off and have stayed home for months. No one knows when the
restaurant travellers would be back. I hope that the Consumption Voucher Scheme will bring
more local people to spend on food and beverage and the whole industry can
survive the pandemic. Otherwise, many workers will be forced to leave the
industry.

A doctor working in | Resources should be allocated to the medical sector, instead of giving everyone an
a public hospital equal amount under the Consumption Voucher Scheme. The public hospitals
lacked space, manpower and equipment even before the pandemic. Start building
new hospitals earlier so that more lives could be saved.

“(a) Refer to Source A.

@) In which phase of business cycle the Hong Kong economy most likely was? Apart from the
change in unemployment rate, list ONE other economic phenomenon of this phase. (2 marks)

(ii) Why did the unemployment rate of retail, accommodation and food services industry increase
faster than that of public administration, social and personal services industry during the
pandemic? (2 marks)

(b)  Refer to Source B. Would the $5 000 distributed under the Consumption Voucher Scheme be included
in the calculation of government consumption expenditure? Explain your answer. (2 marks)

(c) Based on the information given in Source C, explain with TWO reasons why the market of stored
value facilities in Hong Kong is NOT perfectly competitive. (4 marks)

(d) Refer to Source D. Some citizens claimed, ‘I would rather receive $5 000 cash instead of consumption
vouchers.” In terms of functions of money, explain such a claim with TWO reasons. (4 marks)
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Ans

For part (e), candidates are required to present their answers in essay form. Criteria for marking will include
use of sources and economic theories, relevant content, logical presentation and clarity of expression.

(e) Suppose the Government plans to spend another sum of money to cope with the pandemic. The
following are two suggestions.

Scheme C | Distribute the sum of money using the same mechanism as the existing Consumption
Voucher Scheme.

Scheme H | Spend the sum of money on building new hospitals and hiring additional medical
staff.

With reference to the above sources and your own knowledge in Economics, discuss which scheme
the Government will prefer in order to achieve EACH of the following policy objectives respectively.

Objective 1:  to relieve unemployment in an industry severely affected by the pandemic
Objective 2:  to increase average labour productivity

Objective 3:  to increase aggregate output (in the short run and/or in the long run)

(14 marks)
[Use a separate paragraph for comparing the effects of the two schemes under each policy objective.]
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END OF PAPER

Sources of materials used in this paper will be acknowledged in the HKDSE Question Papers booklet published by
the Hong Kong Examinations and Assessment Authority at a later stage.
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Question No.
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Level 3
Exemplar 2 Paper 2

Section A (44 marks)

1. (a) Mary was the major shareholder of a private limited company which operated a restaurant chain. She
planned to change the form of business ownership to a listed company. List ONE advantage and ONE
disadvantage of the change. (2 marks)

{(b)  After opening some new restaurants, Mary found that the average cost of production of her company
had increased. Explain the change in average cost with ONE reason. (2 marks)

) e aduomtng €>s\\emmy%0 _______ & wdler_source_ot ca?itm\~

2. There are two kinds of food deliverers: ‘riders’ delivering food by self-provided motorbikes and ‘walkers’
delivering food on foot. Why do ‘riders’ usually have a higher income per order than ‘walkers’? Suggest
ONE demand-side factor and ONE supply-side factor to explain your answer. (4 marks)
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3. Refer to the following data about Country A.

Year 2019 2020
Per capita disposable income $15000 $20000
Gini coefficient (based on household income) 0.51 0.56
Gini coefficient (based on household disposable income) 0.51 0.44

(a) State TWO reasons to explain why the increase in per capita disposable income may lead to an over-
estimation of the improvement in living standard of Country A. (2 marks)

(b)  Based on household disposable income, did income inequality of Country A improve or worsen in
2020? Suggest ONE policy which may have caused such a change. (2 marks)

Answers written in the margins will not be marked.
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4. Country B and Country C are two large open economies. Facing a huge visible trade deficit, .Country B
imposes a per-unit tariff on goods imported from Country C. Suppose Country B’s demand for goods
imported from Country C is elastic.

(a) With the aid of Figure 1, explain how the tariff would affect the total expenditure of Country B on
goods imported from Country C. {6 marks)

(b)  “Devaluation of a country’s currency against its trading partners’ may have the same effect on imports
as tariff.” Use Country B as an example to justify this statement. (2 marks)

(©) Apart from the effect on the country’s visible trade balance, explain ONE other effect of devaluation
on its balance of payments. (2 marks)

Figure 1: Goods imported from Country C by Country B

Price (in terms of Country B’s currency)
A

/\\?z _\
P S(l(v\

|

+

' { S
‘ <" Quantity of goods imported from Country C
0. QL é‘? & \

.o_)__M_Mm__ﬂ@e._.M.mmﬁm%aois_.im_pukiga@_frm._ﬁmmwﬁ_mn fm%_ﬁ _____

(s elastic., the. percontage incrense in_price will be swallec thon fhe prafue

2

decrense i ouantity. tromsacted . Thus.,the. ain will_smaller_Fhom loss.
%wthwe%mmiv? _____ o _..S___;mp_uxgea(,,.frm.[mty Coll
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5. Country D introduced a short-term capital gains tax (STCGT) on property market.

Capital gains ($) STCGT rate (%)
10 000 or below 8
10001 to 50000 16
50001 to 100 000 24
100001 or above 32

STCGT is a tax on capital gains from the sale of a property held for less than 1 year.

A spokesman of the tax department said that a new computer system had been developed for STCGT.
Although the system cost more than 1 billion dollars, it allowed tax payers to check and pay the amount
of STCGT online easily.

(a) Evaluate the new tax in terms of TWO principles of taxation put forward by Adam Smith. (4 marks)

(b) “The introduction of STCGT would not relieve the problem of rising property prices.” Explain whether
this is a posmve statement or a normativé statement. (2 marks)

SGCWD[% Cerfmhf _n,\e fw( P exs. . \0&})8[/\/6” mfmyhed 0!’901&1[ ﬂte
ealcglection Meﬂxo d_of the tox pa»a/mwc ______ L ST0GT
bas._cleely. statedl fhat, how £o_coleulte the o fwmfs,smk 0s ca,m‘al
Sﬂ_m__s___ffi(____QQ_Q__v_r.__J.o_e__svkv___ ha 5topﬂ%fhefw<m5’/ ________________________________________________________
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6. (a) ‘Deflation will occur if the amount of goods and services produced is growing faster than money
supply.” Explain this statement in terms of the quantity theory of money. (4 marks)

(b) ‘If deflation is expected, the real interest rate will be higher than the nominal interest rate.” Why?
(2 marks)

Answers written in the margins will not be marked.
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7. In a two-country-two-good model, the M per unit of resources of both countries are as follows.
Rice (units) Toys (units)
Country E 10 OR 20
Country F 5 OR 15

(a) Assume the terms of trade are that 1 unit of rice can be exchanged for 2.2 units of toys. Calculate the

gains from trade of EACH country when trading 1 unit of rice. Show your workings. (4 marks)
(b) With reference to your answer in part (a), defend the following statement. ‘There is still a basis for
trade even if a country has no absolute advantage in producing any goods.’ o (2 marks)
. ) _2
_Q)_ﬂe__p_p_\;nm&s}_m&...yf..ﬁm&v_ __E__F_r_od_A_&L_mg___1__ugg;\t._afr_t_c_e._(@)_:__Lo_?l_mts_pffqv

TLeo _FM%TAMAL g Cosi__a{_(\mﬁ \J]}ym ________ ( v_t_g..lR :»;—:3]‘(1)

Dol Couity ___E____Ls_;_ﬁ___e___B)@pﬁk_’ﬁj ______ cownbiy_as_ it has o lower appottinty ost, .
&Wt@‘j’lw{ﬁme»\g ______________ % __________________________________________ P f _____________ \& ____________
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8. The following table shows the balance sheet of a banking system.

Assets ($ million) Liabilities ($ million)
Reserves 1000 | Deposits 4000
Loans 3000

The public initially holds $1 000 million cash and the banks are fully loaned up.
(a) Calculate the required reserve ratio. C P f-g’{ (1 mark)

(b) Suppose the public only wants to hold $400 million cash and deposits the remaining cash into the
banks. Calculate the maximum change in orsey supply. Show your workings. (3 marks)
m

Sl ooye = 95ef

END OF SECTION A

Answers written in the margins will not be marked.

2022-DSE-ECON 2-9 9 [Goontothe next page>

Answers written in the margins will not be marked.



Answers written in the margins will not be marked.

Section B (60 marks)

9. The Mainland government introduced the Targeted Poverty Alleviation Campaign (1 # £ 2 F{ 3% ) in 2014,
After analysing the situations of people living in poverty, the government officials came up with tailor-made
measures. The following are two examples of the campaign.

Example 1 | A village in Yunnan province has beautiful natural landscape. The government of Yunnan
province promoted the village to attract more travellers. Apart from farming, the villagers
also set up hostels to serve travellers in order to earn more income.

(a) Refer to Example 1.

(i) In which types of production did the villagers engage after the introduction of the campaign?
Explain. (4 marks)
(it) Explain how labour mobility of the villagers would be affected. (3 marks)

Example 2 | The government provided funding and invited private firms to develop hydroelectric power
plants in six provinces (such as Hubei and Jiangxi). Such development would help improve
transportation, irrigation and flood prevention in the rural villages in these provinces.

(b)  Refer to Example 2. With the aid of a diagram, explain how aggregate output in these six provinces
would be affected in the long run. (8 marks)

o) Texdi nouction. As ’warisvvi"p_TQYidag____sﬁy_vica., _________________________________________

)glo_vl_oi@____mw%__.law_:_s_k:t_l_\____‘_o.b _____ osxttm/k%ﬂ\a’cﬂvm%eW'éﬁmeﬁ{
_?__@Q_Y_\%___C_MA 0% Thevetore
_a__S___ﬂt_%r....m__m_tg&__frm heirg. e uemer i _a____ﬁown(sm___S_ﬁM_cﬂ_.vaiofer.s .................
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{v\ﬂ/\e)cuf/w Since, there 0wt mere_cndrostures w”bﬁbut“wwe'f‘uf“”eﬁl«e __________
e i BANED fe.s P will faerense. . Also ,_.s.ime_._ﬂf.\_eve_Mﬁ..bﬁii@k..a[@y&lp;zmont.gf_
fg?s}m_tmm%.ihﬂ@%m,_mm..busin_ess_.. e wadle. avel incrense the private

WSMPﬁtmdzmwAMA9qu6@g re%afe.__mma(._mﬂ..mc_r.emg,‘._fhué,._ﬁhem
price Jovel _increase M 0&’)1_ u’ceymfﬂ,t inCreese .

__________ !’—..a@&r_ﬁ_m’t_@_._mtput will increase . Since these six }lmyi_ucc_s__,,Lle‘lp.__d_wdoizmﬁ.......____
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10.  The Olympic Games attract billions of international television viewers to watch the competitions among
thousands of top athletes.

(a) Some restaurants in shopping malls find their businesses increase sharply when the malls broadcast
Olympic events. Explain how the broadcast of Olympic events may result in a divergence between
private and social benefits. ) (3 marks)

{b)  Suppose the divergence in part (a) does exist. How can market mechanism help reduce this
divergence? (2 marks)

Athletes compete in the Olympic Games with their support teams consisting of sport psychologists, physical
therapists, nutritionists, etc.

() Which economic principle is illustrated in the above practice? State TWO reasons why such a practice
can increase labour productivity. (3 marks)

Some professional athletes receive a monthly salary and share a proportion of the prize money whenever they
win in competitions.

(d) Instead of paying the athletes a monthly rate only, explain why some employers of professional athletes
use the above wage payment arrangement. (2 marks)

Whenever an athlete wins a gold medal in a certain sport, there will be the following phenomena: more people
will start learning the sport. As a result, there will soon be long queues registering for courses in the sport.

(e) With the aid of a demand-supply diagram, explain the above phenomena. (5 marks)

Professional athletes usually start their full-time training before graduating from secondary school and have
to give up their studies.

43 Will the opportunity cost of being a professional athlete be affected if the average income of
professional athletes increases? Explain. (2 marks)

N Since the_inome of the xestwmt__M%._M.crms&..b.emusé__q{fkﬂ.ml(s_.broaa(.ca._s_t___.

Olympic..ovents, the. morgjnal social_boneit vl __e__E‘rmt_er___ﬂ.n.@ff_\___ﬁ_b_\e__mam_ inal__

privafe. Len’efit..a&..ﬂ»e...t%tmwﬁs»..o&i..uo.ﬁ._cmymte.__f...c:__mﬂ_s..ﬂ\.er&ﬁ?ﬁ.,ﬂ\em.i.s .......
fb_a[imﬁmce befween th{Aff;MSoqfal)Déneflﬁsw(museﬁadwﬂtu/@tgtxlﬁsx
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11.  The Government launched the Consumption Voucher Scheme in 2021 to relieve the impact of COVID-19 on
the Hong Kong economy.

Source A: Statistical data about unemployment rate in Hong Kong

%

Unemployment rate by previous industry

12

-
-
’—

- @== Retail, accommodation and
food services industry

10

«« «@+ - Public administration, social

and personal services
industry*

wmeiemr Al industries

*Public administration, social

‘nnooaoo.c.

and personal services include
education, human health and

2 social work activities, etc.
0
77 ~u ~p < <
2 o, "z s o, %
%y %, S %, %y
3 % %
o, % b,
N %%, i %%, N

Source B: An extract of information about the Consumption Voucher Scheme

of $5000 by instalments.

All Hong Kong permanent residents and new arrivals aged 18 or above, who comply with the ‘residing
in Hong Kong’ requirement, could register to receive electronic consumption vouchers with a total value

Source C: Information about the four designated stored value facilities to receive the $5000 consumption

vouchers by instalments

AlipayHK Octopus WeChat Pay HK
| ON
AlipayHk P , WeChat Pay e
Public MTR, bus, mini | MTR, bus, mini Bus and mini Bus None
transportation bus and ferry bus and ferry
with the above
payment facilities
installed
Promotions to 5 e-coupons First 2 million $50 awarded when e-coupons
consumption registered using virtual Tap &
voucher users customers enjoy Go Unionpay card for
$18 of stored the first transaction
value with an amount equal
to or larger than $50
Answers written in the margins will not be marked.
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Source D: Some reminders for the Consumption Voucher Scheme

Consumption vouchers cannot be used in transactions such as payments to the government (e.g. tax),
public utilities (e.g. electricity charges), purchase of financial products (e.g. insurance), and direct
purchase from merchants located outside Hong Kong.

There are deadlines for using consumption vouchers.

Source E: Some views on the Consumption Voucher Scheme in Hong Kong

A housewife I have spent more than $5 000 as there are e-coupons from the stored value facility

provider. A lot of promotions in large retail chains and malls have also tempted
me to consume!

A former chefin a I have been laid off and have stayed home for months. No one knows when the
restaurant travellers would be back. I hope that the Consumption Voucher Scheme will bring

more local people to spend on food and beverage and the whole industry can
survive the pandemic. Otherwise, many workers will be forced to leave the
industry.

A doctor working in | Resources should be allocated to the medical sector, instead of giving everyone an
a public hospital equal amount under the Consumption Voucher Scheme. The public hospitals

lacked space, manpower and equipment even before the pandemic. Start building
new hospitals earliér so that more lives could be saved.

(2)

®)

©

(@

Refer to Source A. - \

@) In which phase of business cycle the Hong Kong economy most likely was? Apart from the
change in unemployment rate, list ONE other economic phenomenon of this phase. (2 marks)

(ii) Why did the unemployment rate of retail, accommodation and food services industry increase
faster than that of public administration, social and personal services industry during the
pandemic? ) (2 marks)

Refer to Source B. Would the $5 000 distributed under the Consumption Voucher Scheme be included
in the calculation of government consumption expenditure? Explain your answer. (2 marks)

Based on the information given in Source C, explain with TWO reasons why the market of stored
value facilities in Hong Kong is NOT perfectly competitive. (4 marks)

Refer to Source D. Some citizens claimed, ‘I would rather receive $5 000 cash instead of consumption
vouchers.” In terms of functions of money, explain such a claim with TWO reasons. . (4 marks)

Answers written in the margins will not be marked.
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]
For part (e), candidates are required to present their answers in essay form. Criteria for marking will include
use of sources and economic theories, relevant content, logical presentation and clarity of expression.

(e) Suppose the Government plans to spend another sum of money to cope with the pandemic. The
following are two suggestions. ~~~

Scheme C | Distribute the sum of money using the same mechanism as the existing Consumption
Voucher Scheme.

Scheme H | Spend the sum of money on building new hospitals and hiring additional medical
staff. LRAS /'M{‘ Vasfractue

With reference to the above sources and your own knowledge in Economics, discuss which scheme
the Government will prefer in order to achieve EACH of the following policy objectives respectively.

Objective 1:  to relieve unemployment in an industry severely affected by the pandemic
Objective 2:  to increase average labour productivity

Objective 3:  to increase aggregate output (in the short run and/or in the long run)

(14 marks)
[Use a separate paragraph for comparing the effects of the two schemes under each policy objective.]

QD__K@@_\!_@K}__.__M._C@QB,pﬁ\f_._cayjh...w.i_n...xlsa.,_............___..._.......... ___________________________________________________
fzx_}_i)__S]JAc_e__dmmf}__&L@..C.ay&o&:.l.ﬂ._. M_o_(em_i_.c__;__mns_t..peolee___ghg_s_e_-_fa..we._fz(/_c_e.i_r ______
mml__.&t__lt_ma__{rt__cank__Ls}.._ﬂ;_ems_e{uag_-_ﬂls_o_}_ less trurists_come 1o Hing, Kna, dhe..
io“\efuwtmerobca»TMWQHJMWVWWﬂtemstwamtsamclmmmdm
OLECYeﬂseOtHW,tlﬂemmﬁﬁl 0 e__w_(u_/.s_t" . weasewLSofLeemPlWW‘”
thoose.. To. .. mﬂa}?_..u“w_w._]p.eay.le_,..\A/_LLe._...f..l}.é...]zubb_c..._.a_o.(.t».«im;.tmﬁim..s.ao_i.a.l..M__;z_e_r_s_ml
setxi.c_eﬁ...athy?.. hwe, o substitutes. homce.the domandt Jor_them is e sudhstic and
[

29[..m,>.. 5. i ...éﬁﬂ...@k@ﬂl@}...%&.MF.LRW;.Q..MM@M? _____ %@ﬂ __________________________
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